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SECOND YEAR HIGHER SECONDARY SECOND TERMINAL 
EVALUATION, DECEMBER 2018 

ACCOUNTANCY (COMPUTERISED ACCOUNTING) 
Maximum : 60 Scores 

General Instructions to Candidates: 

Time : 2 Hours 
Cool-offTime : 15 Minutes 

• There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs. 

• You are not allowed to write your answers nor to discuss anything with others during 
the 'cool off time'. 

• Use the 'Cool off time' to get Jam iliar with questions and to plan your answers. 

• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from the same 
question itse(f 

• Calculations, _figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except non programmable calculators are not allowed in the 
Examination Hall. 
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PART-A 
ACCOUNTANCY 

Score Score 

Question 1 to 5. Answer all questions. 
Each question carries 1 score. (5x1=5) 

1. Receipts and payments account shows 

a) Cash receipts and payments 

b) Income and expenses 

c) Assets and liabilities 
d) All of these 

2. The amount of goodwill brought in by 
!he ne~ partner is shared by old partners 
m their ----
a) Old ratio 
b) Sacrificing ratio 
c) Gaining ratio 
d) New ratio 

3. A partner in a firm is both an agent and 
a ----
a) Manager 

c) Principal 

b) Creditor 

d) Broker 

4. X and Y are partners in a firm sharing 
profits in the ratio of2: 1. They admitted 
Z into partnership for 1/5 share in future 
profit, sacrificing ratio is 

a) I : I b) 2 : I 

c) 4: 3 d) 3 : 2 

5. Liabilities Ale Dr. 
To Revaluation Ale. 

This journal entry is passed for 

a) Increase in liabilities 

b) Decrease in liabilities 

c) No change in liabilities 

d) None of these 

1 ~ana,'6 5 OJQCD n(j)ijO CJJl.JOBJABOOM>Ao 

~~db. 1 GCYp nllano. (5Xl =5) 

1. ocru1Qf8'm5' ar@Jc-@' anJ6>m~ «rn>cB€>~6TY3 ... 

ca,o6JT51c00J<m<m 
a) nJ6TT>wroil6>~ rum~o <ZnJOcB6)6o 
b) rumru6o 6>~eiru6o 

c) ar@JcwJWJo 6TlJOWJClS>CWJO 

d) ~OJ6)(!l)~Oo 

2. n..JJcmlW nJ0©§6TT>m 6>db06mJ rum6rm Cf>JCUX1Jlclf& 
ClS> 6 c&., nJ 'f W nJ Om§ ... 6TT> «> ID Om «rn> OJ CD 6 6) S 

---- cd& nJIB:,66)0JcB6}6ffi)6, 

a) nJ'fw aoa~JO b) m~ aoa~JO 

c) eJO@ aoa~Jo d) ~cmlcw aoa~JO 

3. nJ0©§611HO ~<J::116>e.r 63(!)6 nJ0©§6TT>«> 63(E(t) 

crumwo 63©6 Offi~~o 63ct>6 ____ ~o 
~6TT). 

a) aioam~ro 
c) wai ai omm> 

b) c8,Sc86)0(t)OT) 

d) Ol6Yl.10c86)(0 

4. 2 : I n(j) <m mm m6 n.J o cm mm1 cd& e.i o@ m ~ o 
nJ a➔.,6 6> ru c00 6 <m 63 m6 nJ a➔., o ~1 mm 6YlJ1 cru1 
m'™1Cl!T> n.JOC0§6TT>«>momocw X ~o Y ~o Z 6)ffi 

} /5 eJO@oJlnolcl5lrnmJCl!T> ~(mlcn, nJ0<0§6JT>OOwJ 

a~roc00om> cis>im6momlcB6)6cm6. ~rul6'ls m~ 
<80<8n9:1JO 

a) I : I 

c) 4: 3 

b) 2: I 

d) 3: 2 

5. 6YlJOWJ® Rrmc86)~6113 Dr. 
To dlruoe.r6aru~rm Rrmc86)"06113 

~"O a~ro6m<J6 CJCl>6l.J6'lCJ:!S6~6rmm> 

a) 6Yl.lOWJ~ c8,JS6<8cnJOUD 

b) 6Yl.lOWJClS> c8,6()(!1)6(JcnJOcio 

C) 6Yl.lOWJClS> CllOAafl~oasS1<61cB€>6CJcnJOcio 

d) ~OJ6)(!l)O(TI)JID~ 
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Score 
Question 6 to 10. Answer any 4 

questions. Each question carries 
2 score. (4x2=8) 

6. Write any two differences between 

Receipts and Payments Ale and 

Income and Expenditure Ale. 

7. Anju and Manju are partners in a firm 

sharing profits in the ratio of3 :2. Kunju 
is admitted in the firm. Anju sacrifies 
1/3 of her share and Manju 1/4 of her 
share in favour of Kunju. Calculate new 

ratio. 

8. A new partner is admitted into the firm 
for 1/5 share for which he contributes 
~ 50, 000 in cash and furniture worth 

f 25,000. 

Pass journal entry for the above. 

9. M, N and O share profits and loss in 
the ratio of 4 : 3 : 2. N retires and M 

and O decided. Share future profits in 

the ratio of 3 : 2. Find out the gaining 

ratio. 

10. Make journal entries for the following at 
the time of admission of a partner. 

a) Unrecorded liability for goods 

purchased~ 5,000 

b) Furniture of f 48,000 is found less 

by 5%. 

Score 
6 ~cmcul 10 ru6>mav• ai..oJ0'3jRB§1cul ~6>m> 
llb1eJJo 4 a!..!l.l0'3j611BcAM>" ICUTU><t16>'211f'd®Jc8 2 
CJ(ll?Om n.ncmo. ~4x2=8) 

6. oml'lnlA'cru" er®(@' Qi.J6)Ql~mr CGT0c:&6)"06TI6o 
ru er, o.r 6) .a.J e.i oJ al 6m c006 o ® am1 ei~~ 

0©6)@&b]~o ct>6lii CJJ(!l)J0CT1)6'1R36)~~J®J~. 

7. arm~ru6o Ql~ru6c3: 2 Clij)<m mm m 6n.J o 
<m<omlcda eJo@OnJ!IblS6(l) n.J~cm> 6Ylllcrul'°WJI 
6leJ ~ i:g~rul@m n.Joil>§'Emm 
n!ti'l~cda n.J6®1COJ n.Jl:>Og11COJOcOOJOJOcili 

cro'lm6alOml~. ffll'06m!6 00J©J6>S eJO@cmS'J6>o'A 

l /3 @ororu6o m~61 /, @ororu6o ab66ml6n.fl 
m6 ffi!ilO® ~m6moml.!1ko-J6cmlcw mlllm6n.Jo®o 
ab6f@Jn.flslc006c&.,. 

8. 1/5 eio@oJlnn1ancm>1cda3ro6 n.JabOg!1mm 
mJlm51 m'™1~ n.J0«>§6mOwl a~mcm>wocm 
50,000 <OJn.J n.J6mfD0COJ6o!5,OOO (1)Jn.J oJ1 
eJCOJ6~ nD«l6m1--9.A060 «<YoJOfil6>S o.Jlnd) 
anmoc:wl mi[I . 
Q\sc&~cda 6)'8:,0SJcm>®lmJ c&nJaCWO~JCDOW 

<E~m6mcn'a n©~Jcm6ab. 

9. 4: 3: 2 ng)<m armm6n.Jo<mmmlm:i..1o@m~o 
n.Jabls6cm n.J0&§6ffimmomo6m ~ N ~o. 
0 w6o. N n.J0«>§6m«>~~rn7> crrn6o nJl 
coaflc:e6)JnJOm> ~Cll6alomlc006abCOJJM ~o 0 
~o tiOo.flco5lrn1> 3 : 2 ng)<m armm6n.J'1)mmlce'n 
eJOtio n.J~SOCTO ~m6aiOml416, 6)cr,nmlocn 
C30<3n5:!JO ab6TTi6cJlsl c006c.8), 

10. @06)~6)c:e6}0S6cm>1m1c006cmru~" 63; n.J6cm'lw 
n.J0«>§6m6'0 a~&c006cm crumw~oc&.i;,m 
a~&6me.J6c&cio ng)"96cm6c&. 

a) (T1) o w mo ru o 001 cw ru c.8) <Jlfl et6ra o w 
6Yl.lOW j® 6Yl.lJ~ rn1> <E<06lJ6)~ S6('ffl)<m)(ll) 
~ 5,000. 

b) 48,000 mJn.J nJle.icw6~ nD&GTT51~n oJlei 
5% c&3oruu rucmcmoc:wl cib06m6rn'\!,, 
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Score 

Ques1on 11 to 13. Answer any 2 
questJns. Each questim carries 
3 scoes. (2x3=6) 

11. Ivanu and Sonu ae partners sharing 

pofits in the ratio l2: 1. They decided 

tt admit Ponnu. A the time of admission 

of Ponnu, the ba.mce sheet showed a 

balance of~ 24,00 in general reserve 

and Profit and L<,sA/c of~ 15,000. Pass 

entries for thes,items on admission of 

Ponnu. 

12. Write any iree differences between 

sacrificing.itio and gaining ratio. 

13. Rithu ar- Jithu are partners in a firm. 

Sharinrrofits in the ratio of2 :3. Muthu 

is admced for I /3 share in profits. The 

good,·ll of the firm is valued at 

f 24,00. Show journal entries to record 

goocvill in the following cases. 

a) b goodwill appearing in the books 

fthe firm. 

b) }oodwill appears in the books at 

f 9,000. 

I 1111111111111111111111111111111111 

11 ~anam 13 OJQCO n(J36>Clnll>1e.J6o 2 G.0.J:>BJ 
61SBci&c86') i(ffl)C06>121~6an6ce,. 3 G~:>ro n.nano. 

Score 

(2X3=6) 

11. 2: I Oij)fm Clmlm6o..Jocmcm51<ef3 eJOfio n.Jabls6nn 

o..JOro~f 6mroQlOC'006m .. mm6ru6o am.,om6ru6o. 
Clm) ru ro 6) o..J o nn 6 nil 6) m o..J o ro f 6m ro ~ 
CJ:Il<ef3 a.!l.lrod)6)6ruocm cm1m6mom1c006nn6. 
6) o..J O ITT) 6 nil 6) m a .!l.l ffi d)6) 6 rm cro QHW cm5) u 

Clm)OJ(i)66)S 6TlJOeJClT>(T'l)u oiflA1<ef3 ~mo<ef3 o1 

crum<11u 24,000 (O~n.Jm.>Jo e.io~m~ <GY?JcOO'DGr@ 

15,000 ro~n.Jm.>60 m1G86)1mflro1~6~cmomfl 

ca, o 6m 6 rm 6. 6) nJ o rm 6 nll 6> ~ l nJ <E ru uo m 
(Tl)Ql(Il)<m) (]Ql Clm<Jj 06TlITT) (lf0G86)'D6TlsJc&.,~QlOCIDl 

6TlJ m.l)6)<Jj3 a ~ro 6Tl) e.lJi c&.,(ll) nfjy,i 6 ®6 c&., . 

. 
12. cruotc&.i16)6)n.Om5Jow Clmlm6cuocmru6o 6)(J)CID] 

mlow romm3cuocmru60 @amle.JJ,~ '1436)Cl!)m;le.JJ,o 

~rm QJJ® JO(Tl)6m3Clll n©\j)6@6c&.,. 

13. olcm>6ru6o ~cm>6ru6o 2: 3 n©nn <m1>m6n.Jo 
cmcmSl<ef3 eJOBo cuabls6nn n.Joro§'6mromoroo6TT). 

m6 cm,6 nJl 6) m l / 3 e.i o@nJl o.n1 cm ~1 m6 
nJIB>o~ cm> mllm5lmc™1cim lnJaruu6l<;dlc006ruxm 
cm1ro6moml~. ~ro crumwcmf ffiillOn.Jmcm5J6)~ 

(1)6ru,ruleflm6 24,000 a>Jcu rule., ml~cwl~. 

cm06)\j)~om.>6rrn cruoo.n.!l.lmJ6m3~<ef3 cn6nunJl 
e.JJ,mOcwl 6TlJm.l)6)~§ (]~C06me.lJ,c&.,6)~\j)6 cm6db. 

a) ffilO o nJ m cm>16> ~ 6ll.lJ G86)1 <ef3 m1 ei n.fl <ef3 

(J)l,<U>n.ll<ef3 ~. 

b) crunon.Jmcm5J6)~ 6Tl.1Ji~<ef3 cn6ru,n.fle1]6)~ 

rule., 9,000 COJn.J db06m6rm6. 
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Score 
Question 14 to 15. Answer all questions. 
Each question carries 4 score. (2x4=8) 

14. The profits earned by a finn during the 
last four years are given below. 

Year 2010 2011 2012 2013 

Profits(~) 10,000 12,500 15,000 20,000 

The capital employed in the business 

is t 40,000. Normal rate of return is 

25%. 

Calculate the value of goodwill under 

capitalisation of super profit method. 

15. The amount due to a partner on his 
retirement is ~ 4,00,000. As per the 
agreement, he will be paid ~ 40,000 
in cash and the balance in four equal 
annual installments with interest at 10% 
p.a. Prepare his loan account. 

Question No. 16-Answer the question. 
5 score. (Ix5=5) 

16. Mr. Shekhar a partner in a fim1 decided 
to retire from the firm on I st October 
2017. The amount due to him are 

a) His share of capital t 75,000 

b) Interest on capital at l 0% p.a. 

c) Goodwill of the finn valued at 
t 24,000 

d) Profit upto the date of retirement on 
the basis of last years profit 
f 18,000. 
Prepare Shekhar's capital account as 
the accounts of the firm are closed on 
31 st March every year and Shekhar 's 
share of profit is 1/3. 

Score 
14 mimed 15 nJ6lCD nQ)~O CI.AJOBJABci6M>Ao 

~<m>R16ll2l'ldCU>A6, 4 Gct»Oi nllcmo. (2x4=8) 

14. sm6 n.J0«>§6ID«>~<;J ClUDOn.Jmo c&.,~6l1Jm moeJJ 
ru<l>~o amslw eJOtilll06TT} ®06'>19 6lcBJos6cmiSI 
c61c&6)6cmarl'. 

ru&n!lo 2010 2011 2012 2013 
eJOCio (~) 10,000 12,500 15,000 20,000 

cruo o nJ m cm>1 af3 m1 <: «Bm nll ..qJ,1 m1 G86)6 rm 
m6e.iwmo 40,000 m6n.Jcmo6m". cruowom6TT> 
~6r@O<fbJ<m e.JO@ml©ce6> 25%. 
am,uJlc&., eio@cmS16l~ ll!Je!Wmruaf3G86)m6TT>Cilml 
e.166'>s cruoon.Jmaiml6l~ m6ruJrul e.ll6l~ rulei 
c:8:,6TT)c86)0c86)6c&.,. 

15. nflmm1G86)6rm 63m6 n.Joi6§"6TT>«><66>" ei@1 
c86)60JOffi~ ®6c&., 4, 00 ,000 ©Jn.JW06m. cib<bO© 
ln.JcibO<bo fflmCIDOOOc96> 40,000 m6n.J n.J6mmow6o 
6Yl.loe8651 cm6cBJ moel' cm~ mcw6c86)~o<l251 1 0% 
n.Jefloocrun.D1cmo m~6rmcmo6m". mmcmo~6>S 
<:eJ06ml ctmJc86)"06TI3 ®<IDOOOG86)6c&.,. 

l 6-0o1216l<m> C!.!l.JOBJ<m>1 <nA<ffl>CD6l121'1ACU>A•· 

5 CJ~om n]cmo. (1 x5=5) 

16. 63ro6 n.J:>«>§'6mo:>w auo6llro 2011 63aaao6Yl.l«> 
I -:> 0 Cl5li <ID Cl5>1 CTUO O nJ m cm>1 am m1 rmi 0 

ru1mmlc£)6)6 ru:>m> cm'! ro6m:>mlc86)6rm6. rulmml<66>af3 
cro Ql <IlJ mm mrnw ociocOO' '1ml ruc0J0006)<;cj3 ®JcB, 

a) am,w:>~6)S ll!Je!Wmo f 75,000 

b) ~e.iwmwrn5lcfbam~ ruoro~cBJ n.JeJlw 
10%. 

C) cruoon.Jmwrn516>Cl'A (1)6ruJ'nJl m'6 rule.I 
24,000 <bJn.J mlcmJ<IDl-.W 

d) rulmm1c86)af3 r31rucrooru6)mw6~ e.ios 
ruln.dlcmo c&.,'.9]6Ym) ruro~6lcn-m eJ0'56>cn-m 

mm s1 cruo o mm o c86)16> ca, o 618" c&., <#l 6Tll'TII) 

ru&~6lcm> e.io@o 18,000 m6n.J. 
<: oo 6lJ o 1 6> ~ m 6 ei w m mm <66> ro 61"@ .. 

cm~ o o o c86) 6 c&.,. cruo o nJ m cm>16l Cl'A 

c0J6TT><66>6cBJci6 ®<ID oooG86)6rm cm" n©~ o 
ruro~ru6o mom~ 31-oo cmi~cmlCID06Tl1. 
aoo6lldl6>~ e.io@ruln.dlcmo I /3 <U®6Tl1. 
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Score 

Answer the Question No. 17. 8 score. 
(lx8=8) 

17. Madhu and Muneer are partners in a finn 
sharing profits in the ratio of 3 : 2. Their 
Balance Sheet as on 31 st March 2018 are 
as follows. 

11111111 ilR IIR IIE 111111111111 

Score 

17-oo 111&,<am Q.AJOBJ<am1mi f<ffl>C061m.,i(U)!db, 
8 Gfll!OI!>, (1 X8=8) 

17. QlW6~o Cl),1,ml06o 3 : 2 %)(TO «mlffi6nJ:>cm<mSJ~ 

eJ O ril o n.J es.6 6)n.J dM'l6 (TO nJ Oro§ 6m© en:, C006TTt 

2018 r.DOro_g.f 31 m6 «mln.JC066)S 6'fl.JOeJm>mi 

n9:l'IR Cll)06>'9~0cw6o Ln.Ji&.,Ot01D06TT). 

Balance Sheet as on 31st March 2018 

Liabilities 

General Reserve 

Bank overdraft 

Creditors 

Capital 

Madhu 70,000 

Muneer 60,000 

Amount t 
20,000 

20,000 

70,000 

1,30,000 

2,40,000 

Melvin is admitted into the firm for 

1/4 share in profits on the following 

terms. 

a) Melvin contribute f 40,000 as capital 

and f 15,000 as goodwill. 

b) Assets are revalued as building 

f 65,000 furniture 10%. Less and 

investment l 0% appreciation 

c) Depreciate machinery by l 0% 

Prepare necessary ledger accounts 

in connection with the admission of 

Melvin and the new Balance Sheet. 

Assets Amountt 
Building 60,000 

Machinery 20,000 

Furniture 10,000 

Investment 40,000 

Stock 52,000 

Debtors 34,000 

Cash 2,000 

Bank 22,000 

2,40,000 

1/ 4 ei Oli nllnD1 cm <ffl>1 m6 cm 06)'9~ o cw6 cm 

ml6'fl.JOUJffii&.,00c&6) rul<JWCWQ)O<:s:l5l Ei>Olcef&rul6'lm 

ruoro36TT>ron!lil~m't> Ln.J<Jru~~dM'll>cm&· 

a) Ei>cnm't>rulcm 40,000 t0JnJ ~eJWffiOlO<Dl&O 

15,000 COJnJ 006rufo.lle.io<n160 n.J6mo 

6>i&.,06m16 nJC06mo. 

b) C8Y0 cwl i&., oo cm o 6l '9 'ct! ow 6 cm mi anl Cl>J'I m't> 

~mro(l\teJjmlit>6™C!Vo 6'>.!2..JCW6. 6>c&§lso 

f 65 ,ooo, n.0romS14,:1ro I 0% c&6oru, 
ml<J~n.Jo 10% «mlu.Sli&.,o. 

c) 6>ain9:llmdlc00' 10% <J<m~omo 

c8)6TT)c&6)0dM'l!t&.,. 

6> m m't> ru1 6> ~ L n.J a: ru <.n> m ru 6 m o cw1 

6TlJ CTUJ 6) <;cl aw C8T0 OJ <R> ,.\ Q) 0 Cl2J Ei> e.J cur !Q ct) 

am> cOO 'O 6ml 6 IB:, ~ 0 n.J! cro1 CQJ 6YlJ O eJ cm ffi)w 

~R&o cm~oooc006c&. 
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PART-B 
COMPUTERISED ACCOUNTING 

Score 
Question 1 to 3. Answer all questions. 
Each question carries 1 score. (3xt=3) 

1. In _____ code alphabets 
or symbols are used to identify a 
particular item. 
a) Mnemonic 
b) Sequential 
c) Batch 
d) None of these 

2. Find the odd one out. 
a) Tally 
b) G-Nukhata 
c) Libre office Cale 
d) DACEASY 

3. Amount withdrawn by the proprietor 
from the firm for personal use 
is recorded through ___ _ 
Voucher. 
a) Receipt 
c) Journal 

b) Payment 
d) Contra 

Question 4 to 7. Answer any 3 
questions. Each question carries 2 
scores. (3x2=6) 

4. Arrange the following functions into 
different categories. 

NOW, PMT, TEXT, COUNTA 

5. They syntax of SLN function is 
given below correct it if their is any 
error. 
SLN (Salvage, Life, Cost) 

6. Write the steps to change a chart 
type. 

7. Explain any two type of charts. 

Score 

1 m.laJ>m\ 3 nJ6)Cll n@~O <3.Jl.JOt3j61mcibcK>6o 

f<llmC1>6)12l'16as,6ce,, 1 <JC'fl?O<O n.ffaJ>o. (Jxl 3) 

1. ____ <EdbOCU5kd& ~mmoe.t~o 
.rulomm-3~0 63(06 Ln.J<EaJ>Jdb rucw6n116>m 
arl1 ml.!Jidol mi6ruodo ~n.Jamiocril~6<m6. 
a) m J a mo6TT51c00' 
b) mJl c&.> J(fon9:l Jed& 
C) 6Yl.lO.!~l 

d) ~6>cmocm6m~ 

2. 638Cl2J06)ffi c&.>6>6Tra®m3c&.>. 
a) soen 
b) ~-mJ3c&.>omm 
c) e116YlJm63on.dlm3' c&.>ocd&cOO' 
d) ruJocOO'~'"Om5l 

3. tSmffilOdo ruJc&n!51n.Jmmow <G®ClJCll>JcmS"lm3 
m11m51mcmJcd& mlcm6o n.J6mo nJldoruell~ 

ClJ'n..gdol ~6>S<D>06m <J(l)6>.J6>cJ:I ----
s3Cffl>3cm®'. 
a) omJlolA' 
C) <3~©6TOafo 

b) <Jn.J6)m~ 
d) <Jc&.>06l'roLSO 

4 m.laJ>m\ 7 OJ6>CO n(j3QaJ>8b1eJ6o 3 <J~OBj 

mci&ctri' l<ffl>C06)Gllf6aJ>6ce,. 2 GC'Jl?Oi n1IC1>0. 

(3x2=6) 
4. ®06>~ 6>eEbOS6UCl>lcB6>3<m n!l6l3n9:lm3c&.>OO 

nflnflw nfl8ommocwl as,moasilc6lcB6>6eEb. 

NOW, PMT, TEXT, COUNTA 

5. SLN n!l6l3~6)~ (l).!l.Jffi0Cll>OLC1Ji)Ql0611) ®06)~ 
6>c&.>OS6Uc6lcB6>6cm®. 6>CIDf166>6Tram;)afo 
arl1 <03®mJeEb. 

SLN (Salvage, Life, Cost) 

6. .!2..lo&§l~ <OJn.Jo m::>A3<mcmlmoruCll>Jmow 
msn.Jsllc&.>Qlm36>~~6Cl!>3eEb-

7. n@6>®83il~o ©61'Y3 cmmo .!2..lO©~db6>~cB6>6 
ol..gJ nflCll>B'leEbc6lcB6>6eEb. 
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Score 
Questions 8 to 10. Answer any 2 
questions. Each question carries 

Score 
8 a>Ji<mml 10 nJ6')(t) n(D6>CU>8b1~o 2 Ql.!l.JOBJ 

RBcilidKi' tmu>Cb6'>ml96tm66. 3 aicrpocl, n.nano, 

(2X3==6) 3 scores. (2x3=6) 
8. The salary details of employees are 

given as below in a Spread Sheet 

A 

Name 
1 Muhammed 
2 Seema 
3 Joseph 
4 Ruksana 

Write the formula to calculate 

a) Total salary of all employees 

b) Total salary o 

department 

f employees in sales 

c) Average salary of all employees. 

9. Match the column A with column B and C. 

A 

Depreciation 
GP= BP+ DA+ HRA 

NPER 

10. Write a short note on Receipt voucher 
and specify the function key . . 

Answer the Question No. 11, which 
carries 5 scores. (Ix5=5) 

11. Write any five features of accounting 
software. 

8. 6)®o~e.io@ce,™6)S uacru~cmSJ6)1 nJlrumrn, 

~omr ®06)1:P 63<l>J 6)lcmcw"~A11ef& m!i[lmJl 

<6lc&6)J (TT)<?!), 

B 
Salary 
60,900 
42,900 
38,000 
44,500 

C 
Department 

Sales 
Finance 

Sales 
Finance 

®06)1:P~OWJ(TT)ClJ c9J6TT56n.Jl 
OJUb JOlOOOJ cn)Jl(l!)OJOcB, J6)0ll:PJ Cll)J 

a) n(v&JO 6>Cll)O~e.JO~c£bgMC:S 

CJaffiJ~o 

b) 6)m,CDJ11ef&m," cw1~oro§"6)m '®6)e.J Oij)~O 
ce, CJamJ~o 6)®0~eJO~c9JgMC:SOOJ6o (U'@6) 

C) n(j)~O 6l®0'9Je.JO~c9J~C:S w6o uamouam1 

Ubm.J~o 

9. ace,o~o A <:c9JO~o B w6o C w6 
~c&6)6c£b. 

B C 
Payroll PMT 

Loan Repayment SLN 
Straight line method BP* 50% 

10. ocrulcJ'ff ru"D..?z!cil6lmc&6)6ol.~l 63m6 e.JaeJJ 
Cl.fl (lJ (!)6TT)6) Oll:PJ ®Jc:8:,CW6 o n!l 6Tf n3:l cm ce,j 

ClJ jc&<l!)OlO c&6)J c8:i. 

11-oo Ql6)mu) Cl.!l.JOBJmu>1m tmu>C1>6>Ql'J>Jall66. 

5 cicrpocb. (lx5=5) 

11. Clffil c&6) 't> 6TT51 o en a en, 0 n!l" ff 6) OJ WO 6 c9Jfil 6) S 

0@6l ® ~ 1 e.i6 o ~ 6ml" cru ru1 am, n:l:l ® c:0:, 6l ~ 

l:PJ Cll)Jc9J. 
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